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All questions are compulsory and carry equal marks.

(a)

(b)

(a)

Explain the meaning of previous year. What would be the previous year for

new business commenced during the financial year? Explain with example.
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Explain the terms “Person” and “Assessee™? 8)

fd 3k fruifd 7=l & = Hifsw

ORI
“Income earned during previous year is normally chargeable to tax in the
assessment year”. Do you agree? Explain. )]
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(a)

(b)

2
Total income of Mr. R, aged 69 is Rs. 9,26,700. Computé the tax liability
for the assessment year 2014-15. Does it make any difference if it is Mrs.
R? (8)
T R Ay 69 T 8 3R It & 9 9,26,700 ® 21 Frefo ad 201415

%mm—a@amaﬁmﬁﬁmwaﬁsﬂtmﬁmuﬁuﬁﬁﬁaR
4

State the conditions which an individual must fulfil in order to be a resident

and ordinarily resident in India. (7)

Ra ¥ Al R amve: S B @ fog wfd R wmel @ @@ we
=gy, Jeora e

Mr Kumar earns the following incomes during the financial year 2013-14:

Rs.

() [nterest paid by Central Government

but received in London 40,000
(i)  Pension from former employer in India,

received in America 64,000
(in) Profits earned from business in Paris which is

controlled in India, half of the profits being

received in India. 1,60,000
(ivy Dividend Income from Indian company and

received in India 80,000
(v)  Income from house property in U.K. and

received there 40,000

Determine the total income of Mr Kumar for the assessment year 2014-15 if he

is (i) resident, (ii) not ordinarily resident, and (iii) non-resident during the financial

year 2013-14.

(8)
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3

e Fm faciim ad 2013 - 14 ¥ el s e = 2

(a)

®)

(i) F¢ WHFR W 7o T AW g dew A W

frar wn = 40,000
(i) Ra ¥ wet & Frtew ¥ v W s A

o g = 64,000
i) e A Zamm ¥ g I B w wwma A

ﬁﬁwmwmsﬂzmmmﬁm"

g ATl = 1,60,000
(iv) &g ST ¥ a0m @ I 3R g ¥ @

e T . = 80,000
v) T& ¥ IE dofa ¥ @ @ wE ww @ = 40,000

forefeor = 2014 - 15 @ forg frer R = w1 @ = P i afe T8 (i)
a2 (i) auReE: I 8 2, S (iii) R af 2013 - 14 ¥ sEER 2

OR/3rar

How does the tax liability of a not ordinary resident (NOR) differ from that
of a resident and ordinarily resident (ROR) under Income Tax Act? Explain
fully. Q)

T TR AR 6 (NOR ) &1 @ e1fied few yR ot o st & st
FEd Rk auReE: FEd A B B 37 gl awen A

Mr. X, a German national, came to India for the first time -on 1-7-2007.
During the period from 1-7-2007 to 31-3-2014, he stayed in India as follows
- from 1-7-2007 to 31-10-2007; from 1-5-2008 to 31-10-2008; from
1-11-2009 to 31-12-2009 and from 1-7-2012 to 31-8-2013. During the
previous year ended on 31-3-2014, X’s income consisted of:

PTO.




117

Income from business in India Rs. 60,000
Interest from an Indian Company: ‘ Rs. 4,000

Dividend from non-Indian company received

tn Germany but remitted to India Rs.15,000

Income from business in Germany

(controlled from India) Rs.25,000

Income from house property in Germany Rs. 18,000

Determine the gross total income of Mr. X for the assessment year 2014-

15 after ascertaining his residential status for the purpose of income tax. (8)

e

et X, v ST U, 17.2007 S I SR WRE ST ATI 17.2007 ¥ 3132014
T TE R ¥ T8 IHT @I 2 17.2007 A 3110.2007 TF, 1.5.2008 A 3110.2008 @,
1112009 ¥ 3112.2009 & 3N 17.2012 ¥ 318.2013 WF| 313.2014 F W BY

fad af & e X &6t s ¥ A o & -
TR A W A I 60,0007
WROY SO 9 S 4,000 ®

R aRET & ¥ aeaw o R A

T EAN WY WRd ¥ N9 Rar 15,000 &
W W T ¥ aE (R A Frafm) 25,000 ®
W A 1{]_3‘711"11%{ A I 18,000 ®

e X ot Frafeer af 2014-15 @ Rre wad o 970 W IR @ T A A
sarita feafy gl w0 @ 9@ fufor i
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3. Mr. Shivam has furnished the following particulars for the year ending 31 march

2013.
(1) Salary — Rs 25,000 pm.

() Bonus-2 m;:)nths basic salary.

(i) Dearness Allovlvance- Rs15,000 pm.

(v)" Entertainment Allowance, Rs 10,000 for the ygar.

(v) His own contribution to recognised provident fund Rs 35,000.

(vi) Employer’s contribution to P.F. Rs 35,000.

(vi)) Interest on P.F. @ 8% per annum amounted to Rs 3,500.

(vii) Education allowance for one child Rs 4,200 p.a.

(ix)r Rent free house is provided by the company. House is situated in a city
where population is 26 lakh and employe_r pays rent of Rs 10,000 p.m.

(x) Gas and electricity bills for the assessee paid by the employer amounted to
Rs 11,600.

(xi) He is provided with a car of engine capacity 1.8 litres, both for private and
official purposes. All expenses of running and maintenance are met by
employer.

(xi)) Free Cook provided by employer (Salary 5000 p.m)

(xui) Life insurance premium amounting to Rs 13,000 is also paid by employer.
(xiv) Winnings from horse race Rs 10,000.

You are required to compute his taxable income from salary for the
Assessment Year 2014-15. (15)

PTO.
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Tt ¥ 31 W 2013 ® v g 9d & e fefoia o wea fa @
(i) ¥a= -25000 & wfomme
(i) <rFa @ 7B = A A
(iii) #&ms = - 15000 & 9y ¥
(iv) ISR S - 10000 ® o4 & f&
(v) s sfae faftn & = s aRe 35000 ®
(vi) wﬁmﬁiﬁ%‘ﬁﬁmmm— 35000 ®
(vii) wim FRr w8 % af R I =t - 3500 ®
(viii) v = & fog fen-s=n - 4200 ® wfy @b

{ix) o gr feeran wa o T T 31 R U e A @ T 9 srEd 26 A # ok
faten 10000 & TR w2 21

(x) PuiR® 2 o = 3k Rach & R P T Ry & neoo = = 2

(xi) I& 18 MR &N AN TTF TR FR FoN o W) T D g & 7E {1 IR AR
T AR AR D o @ FaE g Ry 9 2

(xii) Faew mw Figes @ Ra @ @ e A9 5000 & 9 W R
(xiii) <a= S GifEw & 13000 ® § P 2@ )
(xiv) 93tz ¥ Wt W afdr 10000 ® B
fAuienr of 2014-15 & faw 397 A I SE W A I T IS AR

OR/3rqar

3. (a) Discuss the tax treatment of ‘Pension’. )]

ﬁﬁmﬁwaﬁg&%%ﬁwm%,ﬁ%w%m
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(b) Mr Z is employed at Delhi as the Finance manager of Shree Ltd. The

particulars of his salary for the previous year 2013-14 are as follows:
(1) Basic salary Rs. 30,000 p.m.
(i1) Dearness Allowance (part of salary) Rs. 10,000 p.m.
(i)  Conveyance Allowance for personal purpose Rs. 5,000 p.m.
(iv)  Commission on sales target achieved Rs. 45,000

) House Rent Allowance Rs. 15,000 p.m.

The actual rent paid by him is Rs. 10,000 p.m. for an accommodation at

NOIDA till 31.12.2013. From 1.1.2014, the rent was increased to Rs.

20,000 p.m. Compute the taxable salary for the assessment your 2014-15.

®)

firex 7 o fofiee 2@ fadia waus & w1 ¥ et A fgaa 21 3ea fUsa af 2013-14
ahriT s R @R T

(@ W A 30,000 & fwme
(i) WEWE v (I W ) 10,000 & gfywms
(i) wfFEE & g '@ W 5,000 & ufemms.

Gv) ol @ 9 = T W A WS 45,000 &
(v) TF T w=n . 15,000 & gfowe

Az ¥ Fmaw @ fw 3112.2013 A 1204 TF & W w000 w v arwfes
fmmn Sa Rar 3k a8 &R seaw 20,000 & 9y wE v fRew wm

frefcor af 201415 & forw &R A 97 ¥ I 1 AEEA i

PTO.
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4.  Mr Ram Gopal is the owner of a business. Following is his Profit and Loss

‘Alc for the year ended on 31-3-201 4:

Rs. Rs.
Establishment charges 3,110 Gross profit 60,870
Rent, rates and taxes 2,900 Interest on

Govt-securities(gross) 5,350

Sundry expenses 7,050 Rent form property 5,400
Household expenses - 1,880
Provision for bad debts 1,200

Loss on sale of motor car (used
for private purpose) 1,800

Insurance premium (including life

insurance of Rs. 1,790) 2,880

Interest on bank loan 1,380

Provision for depreciation 6,400

Net profit 41020 .
71,620 71.620
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Additional information:

{1) Bad debts written off during the year- Rs. 650.

(i)  Admissible depreciation as per Income-tax rules - Rs.1,600.

(m) The assessee is running his business in a rented property, half of
which is used by him for his own residence. Rent of Rs.2,400 in
respect of entire house 1s included in rent, rates and taxes. The balance
of Rs.500 is on the account of municipal tax paid for the entire

property.

Compute the business income of Mr. Ram Gopal for the assessment year
2014-15. (15)

fireex T Mt U Taa W B 31.3.2014 T G o T8 @ e et dnt sk i
AT T TER B

£ ®
o RG] 5,110 &&Ha @™ 60,870.
ﬁ?az;r, ® IR W 2,900 W gfasgfoal 5,350
= (9%d)
fafy @ 7,050 wafa ¥ fomn 5,400
W @ 1,880
MmO ® fore sEEE 1,200

AR HR ¥ W w (| A 1,800
oo I I G
- R (e D 2,880

1790 & Fen =)

PTO.
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d% WU w oA\ 1,380
Toere & fo e 6,400
Pz 41020 e
71.620 71.620

FfaReaw gy

(i)

T 9 JUed U 9 @R S T - 650 ®

(i) 3m o Frad & Fgar SEd T UEaE - 1600 &

(iii) Feifdt e =t wafe ¥ s saaE <R @ R Ree Jn w1 Sed TR wE

(b)

Fra@ & forg wanr % R mar 21 e & sk wd ¥ 2400 ® faoa 9R wEE @
for wfer 21 9w sp0 & wt AR B o RRTE ww @ ¥ ¥ Ry

firee v e &t Fufor 9§ 2014 -15 @ f =R A 3@ T FREET DR

OR/3ran

Explain the provisions regarding taxability of ‘depreciation’ under Income

tax Act, 1961. Q)

I AR 1961 F ST TUEEE D W AR B TR X Fawna @ e
Fifaw

Mrs Aruna is employed in Fair transactions Ltd @ 15,000 p.m. She owns

a house at Delhi whose construction was completed on 31* March 2011.
Since then, she has been residing in this house. However, she has let out the
house from 1.4.2013 to her employer @ 5,000 p.m. The company has
allotted the house to Mrs, Aruna. Other particulars iﬁ respect of the house

for the financial year 2013-14 are given below:
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11

Municipal value Rs. 5,000 p.a.; Municipal tax paid Rs. 6,000; she borrowed
Rs 1,25,000 from ICICI on 1.04.2008 @ 12% p.a. interest for the
construction of the house. She refunded entire loan in lump sum on Ist
October 2013.

Compute her taxable income from house property for the A.Y. 2014-15.

(8)
fidw e By giva fafids § 15000 ® fE 3 R w9 @ F IR
w@ified A Reeht ¥ van wenr 2 e feior 6 31 9 201 1 9@ & T o a9
¥ 95 28 T A ® W B T S T8 qEH 14.2013 9 FErn @ s000.
% uftrme fmg w 2 fan & A 5@ woEe @ fRe seom o siefed aw faam
79 W @ 9 ¥ i ad 20134 @ R 39 Raw @ yER @

wfRee 7w 5000 & TR @ ?; =fAfRod #6000 ® w2 1,25000 ® IEA
14.2008 ¥ ICICI ¥ ¥ 12% wfy ad &%t = @ =nw W fw & o 1 SR 2013
& v A 9K W0 A9g &) R am

o ad 2014-15 & forr 77 Wi & et AR A I w1 AN HifR

Write Short Notes (Any three) | (5x3)

®

(i)

(i)

)

)

(vi)

Taxability of Rent free accommodation

Taxable incomes included under the head income from business and profession
Allowed deductions under income from house property

Residential Status of a “Company”

Income tax treatment of Statutory Provident Fund of a person employed in
a Government Office.

Computation of Gross Total Income of an Individual

PTO.
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witra ot fofee (el < w)
() o 7w Rergdit v &) wedvaan
(@) =em 3R W A 3@ Mw B Fwte wihe W= o s
(1) & wafe & s & st Wi wefvar
(%) Tt N I Rafy
(¥) Tt awr ¥ Frgea =frg o afifie s Bif w e 9 ssaem
(9) = = wove w9 T w1 AfEe

(100)
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